Geometry SOL Final Preparation

a7

Date

Block

1 The map shows some streets in
North Virginia Beach. Which labeled
street is not parallel to the other
labeled streets?

sahSt

14
5
st
L,\J‘?-s‘
A 55% St
B 54* St
C St
D 52 St.

2 A gift box in the shape of a
rectangular prism has a base area
of 56 square inches and a height of
4 inches. What is the volume of the

in_cubic inches?

F_24 hin
G 448
H 896

J 12544

—g.1y = Bo()= 22¢}in’

Whitetop Mountain is 5520 feet
high. The angle of elevation to the
top of the mountain from a point
x feot away is 58°. Which is closest
to the value of x?

+an Bo= 5520
X

X

A= 5520
tan 56

3123

sin 56° = 0.829
cos 56° =~ (.559
tan 56° = 1.483

A 871 ft
8 8184 ft

C 00. 8 ft

4 According to the diagram, which is
true?

Parallelograms

F No squares are parallelograms.
G Norhombuses are rectangles.

( H Some rectangles are not squares. )

J  Some rectangles are not
parallelograms.

5 A child built a paper airplane. Which
lengths, in inches, could not be used
for AABC, a wing of the airplane?

NAtest

A 567 51671 Truc
(B 4,8 TDOU+E Pl2 False

€ 9.10, 12 a+107IZ T

p 89 11 6+a7Ll|

6;5_(9 iﬂ1




6 Transversal n intersects lines £
and m. Which statement would
prove that £ || m?

n
A
N 578 ~£
- /2 "
F mzl=ms3

G mz£3I=mzsé
H msé6+ms7 = 180°

sza +ms5=180° )

7 There are two concentric circles at
the center of a basketball court. The
radius of the inner drde is 2 feet
and the radius of the outer circle is
6 feet. What is the ratio of the
circumference of the inner cdircle to
the circumference of the outer

cirde?
B I:b
C 1:9 ‘
D 1:27

Foiry s 2:=1"2

Clraumfgerence o (,W‘I'D
the scale b—;\,()'r'lilo ;

8. What is the equation of a circle with a center of
(4, -1) and a radius of 5?

F (x— 4P +(y+ 12 =100

G (x— 4 +{y+1¥=5
(H (x—4P+(y+1P=25)

J K+4FP+(y—1¥=25

9 The locations of three shopping malls

form a triangle on a map. Which best
describes the possible distances
between Mall 2 and Mall 3?

Mall1

Y7-352X <& S5tUY
4.5 mi ‘ 4ML6

35mi

Mall 2

C greater than 1 mile and less th@
8 miles

B

C

D

greater than 8 miles
greater than ¥ mile
greater than 15.75 miles

10. What type of construction is represented below?

Stap £

.p Using P as the center,
draw two arcs with equal
radii that intersect line £ at
K points R and S.

Stop 2
Using A and S as centers,
draw two arcs with equal
radii that interssct st
paint X. Draw PX.

F. The perpendicular bisector of a segment.
G. A segment congruent to another segment.
H. Alin i i i

line.

. Aline perpendicular to a line through a point not on the

11 A student draws the triangle below
with a geometry software program.
Which lists the side lepgths of the
triangle in order fro o
greatest?

Trangle GRA

A RA AG, GR
B GR _RA AG

D AG,GR RA




In addition to the information in the
drawing, which statement can be
used to prove that ARST ~ AEFG?

R 10 s
\/ 5
5 . 6 EV;
F <R= £E 0=k =5
6 £T=4G 5 2 €4
H EG=4 £6S
cens

14 Two cylindrical kitchen canisters are
similar. How many times more
volume will the larger canister hold?

F %ﬂmesmore a:lo ;413

volume = 032 g)
:q?’: 33
=AY 21

[ <] %ﬂmes more

16
H -g-ﬂmes more

64
J 77 times more

13 Apilot lew from Pittsburgh,
Pennsylvania to Charleston, West
Virginia, then to Roanoke, and back
to Pittsburgh. Which lists the angle
measures in the triangle formed in
order fro .

C, Cludeston. R, Roancke
P il

B ZR £P £C
C £C LR «£P
D 2P, £C, ZR

15 Transversal t intersects m and W
as sh . V%g:?h value of m would
make AB ||

(B 45 )
C &5
D 80

16 Whatis the converse of the_ 4—>p
following statement?

i you go to the movies, then you
eat popcorn.

F If you do not go to the maovies,
then you eat popcorn.

G If you do not go to the movles,

then you do not eat popcorn.
H If you eat popcorn, then you go to )
the movies.

J  if you do not eat popcorn, then you
do not go to the movies.

17 Main Street intersects Oak Street
and Elm Street. Which of the
following relationships would not be
sufficient to prove that Oak Street is
parallel to Elm Street?

ok {4
i 0
g/ B
8 8
2 4
i T AN

]
¥4,
b

'
A L1=s5 Corv-?}s’M':-
B s4=,/8 Covv &5 -

have noths o Ao/ g
M.xs tf,\m.’

X and £6 are supplementary. Cnscc. 1




18 Triangle CDE is drawn in the plane.
Which of the lines is a line of

symmetry?
p q
T
P,
-~
. pamiti
» 1
]
L]
F p
G g
J s

19.
What is mz X in circle O?

126° X

-

m X =% (8o 34)

20 What s the contrapositive of the “"i—?"’f’
following statement?

If you study mathematics, then you
go to the College of William and
Mary.

F If you do not go to the College of
Willlam and Mary, then you study
mathematics.

G If you do not study mathematics,
then you do not go to the college
of William and Mary.

=

H If you do not go to the College of
Willam and Mary, then you do not
study mathematics.

J  If you go to the College of William
and Mary, then you study
mathermatics.

21. What type of construction is represented below?

8 Stop 1
Draw any angle with vertex A.
Placing the compass at A, draw an
arc that intersects hoth sides of LA,
Label points 8 and C and mark
congrusnt segments.

s Step 2
Draw an arc in the interior of
LA with compass point ot B.
Using the same radius, draw
an arc from C that intersects
the first arc at D. Draw BD and

€D and mark congrusnt segments.

Stepld
Draw AD.

A. The perpendicular bisector of a segment.
B. A sement congruent to another segment.

C. An angle congruen a given angle.
D. The bisector of an angle.

22 Whatis the inverse of the following ~ —9,\(6
statement? P

if you live in Blacksburg, then you
live in Virginia.

F If you do not live in Virginia, ther
you do not

if you do not five in Blacksburg,
then you do not live in Virginia.

yo
then you live in Virginia.

J If you live In Blacksburg, then you
do not live In Virginia.

23  An aquarium curator wants to

V,—V,
expand his facility by constructing a

new aquarium. The old aquarium is a 314l S'DI.GB
cylinder that is 20 foet tall witha ~ 39267 1

diameter of 50 feet. The new
aquarium will be a similar cylinder zqq}%eth}
with a diameter of 100 feet. How

much more water, in cubic feet, will

the new aquarium hold? 214159.%

B 210 - ;
o> D
' A, 4
r=25 =%
ab= 25:50=112

AMolume SE = a¥:l: 10D

Volume = 8X UO‘”"’:‘L‘ 4®
Uo\m\bdh@ =) 20



24 Line tis a transversal. Which of lines

p: q,rand sis qu parallel to the
other three?

4
&
R

E
G
H

(EID

25 A drcle with center {5, -3) has a
radius of 4 units. Which point is on
the circle?

A (13,-3
B (1) 1

c {1,-7}

26 A park has a walking path in the

shape of Which of

the following side Tengths could not
be lengths of the path, in kilometers?

E

H 4,555
J 256,65 1Y+c‘-—bf

27 Let p represent “The town is
Arlington.”
Let g represent “The town is a
suburb of Washington, D. C."
Which is a representation of the
statement below?

If the town is a suburb of
Washington, D. C., then the town
is not Arlington.

A ~p— ~g
~q— ~p

D p—~qg

28. What type of construction is represented below?

Line £ and point P are given. Arcs
are drawn at points X, Y, and Z,
then PZis drawn. Which construction

is illustrated?
Step 1 Step 2
4
£ | o 1 £ . y
x\ P ¥ X p

F. The perpendicular bisector of a segment.

G. Ase ngruent to another segment.
H. A line perpendicular to a line through a point on the line.
J. Aline perpendicular to a line thro‘We
line

29 Point T is the image of point R
under a rotation about point 5.
Which of the following statements

varifies that £ L m?
1 O slqw

o1 ¥l |m
[2] l, X 06
1 -ﬂsn-\r' @WAM(/{"
T ‘l .

A Slope of £is not equal to slope
of m.

meoft-s!opeofm=—1 )
C RS=T15=V37

D Lines £ and mintersect in the
plane.




31. What type of construction is represented below?

30 The surface area of a right cylinder
is three times the surface area of a S
smaller similar cylinder. What is the X Y
ratio of the radius of the larger £
cylinder to the radius of the smaller A
cylinder? At 2
SP‘ O b Biven XY,
F 2 % 3 ' \ Use a straightedge to draw line £, Plot
@ . i point A on K. Set the compass with
a‘flﬁ 0 % (-M:‘ =4 - b radius XY. Place compass poém onA
. and draw an aro intersecting £ at B.
H 9:1 SO m*ﬂ( ‘J B
J 27:1 50 cad~ A. The perpendicular bisector of a segment.

32 A golf ball has a diameter of 1.68
inches. Which is closest to the
volume of the ball, in cubic inches?

F 084
G 25
H 30
J a9

B.” A segment congruent to another segment.

C. ATine perpendicular to a line through a point on the line.

D. Aline perpendicular to a line through a point not on the
line.

33

In addition to the information in the
drawing, which statemnent would be
needed to prove that

AFGH ~ &5 MNP?
F
AN,
25
o « WX,
80 0
FG _ FH - —
QY de ﬁ,(—;\;}k?&
GH
B 5= 1P MN NI© MW
C LF=«M
D £G=«N

34 Whﬁcﬁh value is closest to the length
of AB, in centimeoters? —
Noo—-220= IHo

4o, 21 (5)
e

J 305

35.

Two storage boxes are similar. About
how many times more volume will
the larger box hold? _— o |0 - 8; Lg

10 IHVOW
a2\

.5 in. /17
2 LT,b:‘D

A The larger box will hold 1.25 times bL} 12(

as much. —
B The larger box will hold 1.56 times \L—

s much
C The larger box will hold 1.95 tlm@ . ab’
as much, - ‘

D The larger box will hold 2.44 times
as much,

S o e o e

' o

10in.

4

36. What type of construction is represented below?

X

X

Given EF.

Set & compasa for any radius greater
thin} EF. Draw four arcs with this
radiua using E and F se canters.
Drrerw XY.

7T : .
F. The perpendicular bisector of a segment
. A Segment congru G another segment.

H. Aline perpendicular to a line through a point on the line.
J. Aline perpendicular to a line through a point not on the
line.




37.
Which value is closest to the area of

the shaded sector of circle O, in
square meters?

38 A child's ball has a diameter of
12 inches. Which is closest to the = (

w: in square inches?
s =) W)
—

39 Triangle ABC and its image, triangle
DEF, are shown. Which statement
describes the type of transformation

that occurred? CN‘{))% (X""'Lh ‘d-f})

D

>

O] E| |F

3

A Slope of AC = slope of DF; since
the slopes are the same, the
transformation is a rotatlon.

B Each ofthe points A, B, and C'ls

___reflected In the x-

€ For points A, B, and C, each
x-coordinate Increases by 4 units,
and each y-coordinate Increases by
3 units. So, the transformation is a
translation.

D Since BC # DF, the transformation
Is a dilation with a scale factor of 1.

40 ABis rotated 90° dockwise about
the origin. What is the length of its

image?
7
A
y, rD'lZﬁO‘lf
: 5] ¥ arcf&()m
the shape 45
1S (rc;erwﬁ‘.
F 3
G V13
H 4

2

41 Which if-then statement follows from
the pair of statements?

If | pass my driving test, then | will ?"9%
get my driver’s liconse.

If | get my driver’s license, then I will %"’V
drive my parent’s car.

A If | do not pass my driving test,
then | will not drive my parent’s car.

B Ifl pass my driving test, then | will
my parent’s car. (P ar
C [f | drive my parent’s car, then | got
my driver’s license,

D If| get my driver's license, then |
did not pass my driving test.

-y

L aw ob&dlioarnw‘.



42

LeeAnn cut a piece of stained glass
that is shaped like the hexagon
below. What is the value of x?

ntysum
(6-1) 1%

F_114° A+ 580= L0
=Y

H 318

3 ae

43 Schools often have the traffic sign
below near their buildings. What is
the closast estimate of m< A?

o hao o be 7%!

(B 1355)
c 1&r

o 180°

44

The opposite sides of a picture
frame are congruent. The frame is a
parallelogram. What additional
information would(not yerify that
the frame is a rectangle?

P ;
—#"“"F’-
T ; c
F £P=£C £T=2i; ofp Z}Sﬂ
mLT+mLC = 180" Conce 8 f-spr-
= IT digy k2

@i b el

L PTLTC coniec. sihey A4

45, The angle of elevation to the top of
Whitetop Mountain is 55° from a
horizontal distance of 3865 feet.
Which is closest to the value of x,

the height of the mountain?

4an 55=2%
005

2 9605 (fanss)

[y ————
3665 ft
sin 55° = 0.819 5 g-‘ q .g
cos 55° = 0.574

tan 55° =~ 1.428

A 5519 ft
B 31651t
C 22191t
D 487 ft

46

Which if-then statement follows from
the pair of statements?

If the sun is shining, then we will

have a picnic at the Mount Rogers «F %
National Recreation Area,

if we have a picnic at the Mount (6—3 C
Rogers National Recreation Area,

then it is not raining.

F If we do not have a picnic at the
Mount Rogers National Recreation

Area, then the sun is shining.

G |f the sun s shining, then it is not

raining.

s not raining, then the sun is
shining.

J  if we have a plcnic at the Mount

Rogers Natlonal Recreation Area,

then the sun Is shinlng.

P-ar

H

47 Which set of true statements can be
used to verify that AKLM x ARST?

L y

(A KL=RS;LM=ST,KM=RT )
B KL= RS, M= ST, mzM= mzT
€ KL= RS;LM= ST: meK= msR
D mK=mZRRmzM=mzsT




¢

48. What type of construction is represented below?

Step 1

Using A as the center, draw
an arc that intersects
ZBACa Eand D.

Step 2‘___

Draw PR. Draw an arc with
center P with the same radius
as DE. Draw an arc with center
S with radius DE that intersects
P S'm the other arc. Then draw PT.

o

F. The perpendicular bisector of a segment.
G. A sement congruent to another segment.
<l "

(H. An angle congruent to a given angle.)

J. The bisector of an angle

49

Karen designed a logo that is a kite
inscribed in a cirde. One diagonal of
the kite, IE, is a diameter of the
cirde. Which statement is true about
angles £ KIT and ZKET?

A ZKITand £ZKET are both right
angles.

B £KIT and £KET are congruent.
(€ ZKIT and ZKET are supplernentary.)
D sKITand ZKET are not related.

50 Which of the four triangles are

similar?
20
[ ]
28
2 21
[\ A" l h
BRT 14 20
F land il only
G |, 1, and lll only
H [and IV only
J  Hland IV only

51

The circumference of a great cirde
of a women’s league basketball is
28.5 inches, and the circumference
of a great drcle of a men’s league
basketball is 29.5 inches. Which is
closest to the ratio of the surface
area of the women's basketball to

the surface area of the men’s (=

basketball?

C=5189
A 0902 W M_,
@ 093>
C 0966

b 1035 SFz2%6.529.5
area §F =285 145" =812.25 - 81

("

SR

&

52 The streets near Fiona's house form
the right triangle shown. Fiona rides
her bicycle down each street once.
Which number is closest to the
distance she rides?

\

2 mi \T—

F 13.0mi
G MAmi
H 10.5mi
J 85mi

53

George designed a circular patio - 612.2
with a radius of 8 feet. He added 6’)0. y
tiles that make an inscribed square.

What is the area of the tiles he = .Q3
added, in square feet?

O R’l") N

¥




55. A sugar cone for ice cream is shaped
54 The front of a tent appears to like a right cone as shown. Which is
be an isosceles trapezoid. What closest to th in cubic
information is needed to varify that inches, of ice cream that will fill the
this quadrilateral is an isosceles cone?
trapezoid?
A i
c 94
D 126
6. A _deSigh" fl‘_’r a ﬂ?m tile is ma?" >7. A stained glass design uses a shape
using the lines of symmetry of a formed by connecting the vertices
square. What is the sum of the £ a requi ct What is the
measures of the interior angles of ° ia r gfu ar octagon. atts
one convex octagon in the design? value of x?
———G-2MlI50)
6(1fL) X D
O 5
A 135 = (8045
B_90° I={32¢
C 45°
G j (35 (33-90
F_720° H 1260° D 30 5%
G 1080° J  1440°
58. 59.

Two cylindrical storage containers
are similar. About how many times
larger is the volume of the larger

container?

o8t

F The volume is 3 times larger.
G The volume is é times larger.

H_ The volume is 9 times larger.
< J  The volume is 27 times larger. )

What is the total volume, in cubic
inches, of an acrylic bookend in the
shape of a square pyramid?
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